Heavy Duty
Clutch Parts

4 )

o J

Your Quality Leader
in New Replacement Parts
For Clutch Rebuilders

Made in the USA

Call Toll Free
1-800-325-6138

Ace Manufacturing & Parts Co.

300 Ramsey Street
Sullivan, Missouri 63080
Phone: 573-468-4181

Fax: 573-468-4497




Index

Section Page
Borg & Beck™ Al
Lipe™ B1-B7
Long™ C1l
Mack™ D1
Spicer™ E1-E18
Adapter Rings F1
Bearings Gl
Facing Rivets & Springs H1
Buttons 11
Agricultural J1-J7

Catalog Accuracy

Ace Manufacturing assumes no responsibility or liability due to errors that may
appear in the text of this catalog. Product information contained in this catalog is
subject to verbal confirmation by a sales representative of Ace Manufacturing.

Disclaimer

The clutch parts referred to in this catalog are manufactured by Ace Manufacturing
and Parts Co. or their agents. Although the part numbers and/or description may
correspond to those of the original equipment manufacturer and may be registered
trademarks, they are shown for identification purposes only and are not intended to
imply otherwise.

ACE MANUFACTURING & PARTS CO,, INC.
300 Ramsey - Sullivan, MO 63080
1-800-325-6138
PHONE: 573-468-4181 FAX: 573-468-5584



AW Borg & Beck™

Ace No. Size or Description
A90 PRESS.PLATE, B&B, 13"
A94 PRESS.PLATE, GM, 12"
D175 DISC, 13" DAMPNER, B & B
LESS HUB
D175A D175 PUNCHED FOR
BUTTONS A94 D175 - D175A - D175A-HD
D175A-HD DISC, LESS HUB, 13" B & B
HD .093
D389 10" RIGID DISC, 10 HOLE
CENTER .1062 FSMI
D390 10 1/2" RIGID DISC, 10 HOLE
CENTER
D391 11" RIGID DISC, 10 HOLE
CENTER
D392A 11 7/8" RIGID DISC, 10 HOLE
CENTER D389 - D390 - D391 - D392A D480
D393
D393 12 7/8" RIGID DISC, 10 HOLE
CENTER
D480 1 1/2" 10 SPLINE HUB, B & B
D481 SHIM, B & B HUB .055
D501 13" B & B DISC, DAMPNER,
4 PDL LESS HUB OPEN
D501C 13" B & B DISC, DAMPNER,
4 PDL LESS HUB CLOSED
D481 D501
D501C-HD D501C, HEAVY DUTY .093
THICKNESS CLOSED
D502 13" B & B DISC, DAMPNER,
3 PDL OPEN
D502-HD D502, HEAVY DUTY .093
THICKNESS OPEN
D502C 13" B & B DISC, 3 PDL LESS
HUB CLOSED
D502C-HD D502C, HEAVY DUTY .093 D502 - D502-HD - D502C D535
THICKNESS CLOSED D502C-HD
D535 B & B BACKPLATE,
CL WINDOW 8 SPRING
D632 1 3/8" HUB
D633 1 1/2" HUB

D632 - D633

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

A1

Ace Mfg. & Parts Co. manufactures the parts shown above. Borg & Beck ® is a registered trademark of Borg Warner Corp.



Ace No. Size or Description
A9 LIPE PRESS.PLATE, DPB 14"
A9A LIPE PRESS.PLATE, DP 14"
A19 STAMPED COVER, 14", LIPE,
C2S-136
A38 INT.PLATE, LIPE, 4-LUG
REL/FB, 14" A9 - A9A A19
A40 INT.PLATE, LIPE, 4-LUG
REL/FB, 13"
A43 INT.PLATE, LIPE, 4-LUG
REL/FB, 14"
A63 INT.PLATE, LIPE, 3-LUG, LS
14"
A142 BEARING, NEEDLE, LIPE,
Y58, 13"
A38 - A40 - A43 AB3
A145 BEARING, NEEDLE, LIPE,
Y58, 14"
A194 E-RING, LIPE, 13"
A285 REL.LEVER, LIPE C60-108 b
A289 REL.LEVER, LIPE C60-89
D133 RIGID HUB, LIPE, REAR, Aoa A285 - A289
13/4
D134 RIGID HUB, LIPE, FRONT,
13/4
D161 HUB, 13" LIPE, 1 3/8"
D167 HUB, LIPE, DAMPNER,
11/2"
D170 DISC, LIPE, DAMPNER, LESS
HUB, 13" CLOSED
D170A DISC, LIPE, DAMPNER, LESS

HUB, 13" CLOSED

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

D161 - D167 D170 - D170A

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B1

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



Ace No. Size or Description
D171 BACK PLATE, LIPE 13", 1 1/8
x11/2
D177 ASSY, DISC, LIPE, 13" x 1 1/2"
FRONT
D177A ASSY, DISC, LIPE, 13" x 1 1/2"
FRONT
D177CB ASSY, DISC, LIPE, 13" x 1 1/2"
FRONT
D171 D177 - D177A
D177WNA ASSY, DISC, DAMPNER,
13" x 1 1/2" FRONT
D178 ASSY, DISC, DAMPNER,
13" x 1 1/2" REAR
D178A ASSY, DISC, DAMPNER,
13" x 1 1/2" REAR
D178CB ASSY, DISC, DAMPNER, :
13" x 1 1/2" REAR piei
D178WNA ASSY, DISC, LIPE, 13" x 1 1/2"
REAR
D181 ASSY, 13" LIPE STYLE, 1 3/8" DI77WNA - D178WNA D178 - D178A
10 SPLINE
D181A ASSY, D181 PUNCHED FOR
BUTTONS
D181CB ASSY, D181A LINED W/
BUTTONS
D181WNA ASSY, D181 LINED W/
FACING

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS D177CB - D178CB D178WNA
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

D181 - D181A D181CB

D181WNA

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B2

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



Ace No. Size or Description
D182 ASSY, LIPE, 4 PDL 10
SPLINE, 13 x 1 3/8
D182CB ASSY, D182 LINED W/
BUTTONS
D183 ASSY, LIPE, 3 PDL 10
SPLINE, 13 x 1 3/8
D183CB ASSY, D183 LINED W/
BUTTONS .156 D182 D182CB
D184A ASSY, 12 x 1 3/8 PUNCHED
D184CB ASSY, 12" X 1 3/8" CB
D185 ASSY, 13" X 1 1/2" 10 SPLINE
D185A ASSY, D185 PUNCHED FOR
BUTTONS
D185CB ASSY, D185 LINED W/
BUTTONS
D184A - D185A D184CB - D185CB
D185WNA ASSY, D185 LINED W/
FACING
D186 ASSY, LIPE, 4 PDL 10
SPLINE, 13 x 1 1/2
D186CB ASSY, LIPE, 4 PDL 10
SPLINE, 13 x 1 1/2
D187 ASSY, LIPE, 3 PDL 10
SPLINE, 13 x 1 1/2
D187CB ASSY, D187 W/ D186
BUTTONS .156
D188A ASSY, 13" x 1 1/4" PUNCHED,
ROUND
D194A DISC ASSY, 12 x 1 1/2"
PUNCHED LIPE, ROUND
D194CB ASSY, 12" LIPE 1 /2" CB
D209 ASSY, LIPE, DAMPNER,
14 x 1 3/4 FRONT
D209A ASSY, LIPE DISC, PUNCHED, D183CB - D187CB D209 - D209A
14 x 1 3/4
D209CB ASSY, LIPE DISC, DAMPNER,
14 x 1 3/4
D209PDL ASSY, LIPE, DAMPNER,
14" 4 PDL
D209WNA ASSY, LIPE DISC, 14 x 1 3/4
D210 ASSY, LIPE DAMPNER ,
14 x 1 3/4 REAR D209PDL D209 - D210
D210A ASSY, LIPE DISC, 14 x 1 3/4

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B3

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



Ace No.
D210CB

D210PDL
D210WNA

D215

D215A
D215CB

D215CB-4

D215WNA

D216

D216A
D216CB

D216CB-4

D216WNA

D217

D217A

D217C

D217CA

D218

D218A

D218CB

D218PDL

D218WNA

D219

D219A

D219CB

D219PDL

Size or Description

ASSY, LIPE DISC, 14 x 1 3/4
ASSY, LIPE DISC, 14" 4 PDL
ASSY, LIPE DISC, 14 x 1 3/4

ASSY, LIPE DISC, 14 x 1 3/4
FRONT

ASSY, LIPE DISC, 14 x 1 3/4
ASSY, LIPE DISC, 14 x 1 3/4

4 PDL DISC W/ BUTTONS,
14 x 1 3/4

ASSY, LIPE DISC, 14 x 1 3/4

ASSY, LIPE DISC, 14 x 1 3/4
REAR

ASSY, LIPE DISC, 14 x 1 3/4
ASSY, LIPE DISC, 14 x 1 3/4

4 PDL DISC W/ BUTTONS,
14 x 1 3/4

ASSY, LIPE DISC, 14 x 1 3/4
LIPE DISC, DAMPNER LESS
HUB, 14"

LIPE DISC, DAMPNER LESS
HUB, 14"

LIPE DISC, DAMPNER LESS
HUB, 14" CLOSED WINDOW

LIPE DISC, DAMPNER LESS
HUB, 14" CLOSED WINDOW

ASSY, LIPE DISC, 14 x 1 1/2"
FRONT

ASSY, LIPE DISC, 14 x 1 1/2"

ASSY, LIPE DISC, DAMPNER,
14 x11/2

ASSY, LIPE DISC, 14" 4 PDL

ASSY, LIPE DISC, DAMPNER,
14x11/2

ASSY, LIPE DISC, DAMPNER,
14 x 1 1/2 REAR

ASSY, LIPE DISC, DAMPNER,
14x11/2

ASSY, LIPE DISC, DAMPNER,
14x11/2

ASSY, LIPE DISC, DAMPNER,
14" 4 PDL

D210PDL D217- D217A

D217C - D217CA D218 - D218A

D218WNA

D219 - D219A D219PDL

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080

B4

Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



AW Lipe ™

Ace No. Size or Description
D219WNA ASSY, LIPE DISC, DAMPNER,
14 x 1 1/2
D231 DISC, 13" LIPE HI-TORQUE
LESS HUB
D232A LIPE DISC, DAMPNER,
4 PDL, CL. WINDOW, 14"
D233A LIPE DISC, DAMPNER,
4 PDL, OPEN WINDOW 14" D219WNA D232A
D235L CARRIER 14", LIPE HI- 3
TORQUE
D235LA PUNCHED DISC, 14" HI-
TORQUE
D275 RIGID DISC, LIPE, 14 x 1 3/4
FRONT
D275A ASSY, LIPE DISC, PUNCHED,
14 x 1 3/4
D233A D235L - D235LA
D275CB ASSY, RIGID DISC, LIPE,
14 x 1 3/4 _
D275WNA ASSY, RIGID DISC, LIPE,
14 x 1 3/4 0,
D276 ASSY, LIPE DISC, 14 x 1 3/4 o y
REAR
D276A ASSY, LIPE DISC, 14 x 1 3/4 ‘@
D276CB ASSY, RIGID DISC, LIPE,
14 x 1 1/2
D275CB - D276CB D283
D276WNA ASSY, RIGID DISC, LIPE,
14 x 1 3/4
D283 HUB, LIPE, DAMPNER,
FRONT 1 3/4"
D284 HUB, LIPE, DAMPNER, REAR
13/4"
D286 BACK PLATE, LIPE 14"
D286C BACK PLATE, LIPE CLOSED D284 D286
WINDOW
D287 SHOULDER RIVET, LIPE .405

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

D287

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B5

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



Ace No. Size or Description

D288 HUB RETAINER RING,
LIPE .113" W/DIA.

D291L RIVET, LIPE ASSY, HI-
TORQUE

D293 RIVET, LIPE HI- TORQUE

D297 LIPE HUB, DAMPNER,
FRONT 1 1/2"

D298 LIPE HUB, DAMPNER, REAR
11/2"

D308 ASSY, LIPE DISC, 14 x 1 1/2

D308A D308 PUNCHED FOR
BUTTONS

D308CB ASSY, LIPE DISC, 14 x 1 1/2
CB

D308CB-4 LIPE DISC, 4 PDL W/
BUTTONS, 14 x 1 1/2

D308PDL LIPE DISC, DAMPNER, 14" 4
PDL

D308WNA ASSY, LIPE DISC, 14 x 1 1/2

D409A ASSY, LIPE DISC, 14 x 1 3/8"

D419 HUB, 1 3/8" 10 SPLINE

D500 13" LIPE DISC, DAMPNER,
4 PDL LESS HUB OPEN

D500C 13" LIPE DISC, DAMPNER,

4 PDL LESS HUB CLOSED

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

Lipe ™

D298 D308 - D308A

D308CB-4 D308PDL

D419 D500 - D500C

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B6

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



AM Lipe ™

Ace No. Size or Description

D513C 13" LIPE DISC, 3 PDL LESS
HUB CLOSED

D609CA 12” LIPE DISC, BUTTONS &
FACING CLOSED

D643 SPACER PLATE, LIPE HI

TORQUE

D662 LIPE BACK PLATE, HI D513C D609CA
TORQUE

D663 LIPE HUB, FT 1 1/2"

D664 LIPE HUB, FT 1 1/4"

D667 LIPE HUB, FT 1 3/4"

D669 LIPE HUB, FT 2"

D643 D662

L

D663 - D664 - D667 - D669

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

B7

Ace Mfg. & Parts Co. manufactures the parts shown above. Lipe® is a registered trademark of Haldex Corp.



AW Long™

Ace No. Size or Description o
A21 INT.PLATE, LONG, W/O _/!
CLIPS , 13" ,_
A21A ASSY,INT.PLATE, LONG, W/ ! . ’
CLIPS, 13" Ny
A39 INT.PLATE, LONG, 4-LUG ¥
REL/FB, 14"
A40 INT.PLATE, LONG, 4-LUG
REL/FB, 13" A21 - A21A A39
A129 LONG SPRING CLIP FOR
A21A
A130L RIVET, SPRINGCL, LONG
13", 1/4 x 1 7/32
A130S RIVET, SPRINGCL, LONG
13", 1/4 x 23/32 A129
D273 RIGID DISC, LONG, LESS
HUB, 14 AdO
D277 RIGID HUB, REAR 1 1/2"
D278 RIGID HUB, FRONT 1 1/2" .
D281 ASSY, RIGID DISC, LONG, A1308
14 x 1 1/2 REAR
D281A ASSY, DISC, LONG, 14 x 1 1/2 Sy
D281CB ASSY, DISC, LONG, 14 x 1 1/2 AT30L
D281WNA ASSY, RIGID DISC, LONG,
14x11/2
D282 ASSY, RIGID DISC, LONG,
14 x 1 1/2 FRONT
D277
D282A ASSY, RIGID DISC, LONG,
14 x11/2
D282CB ASSY, RIGID DISC, LONG,
14 x11/2
D282WNA ASSY, RIGID DISC, LONG,
14 x11/2
D377L 14 x 1 1/2" DISC HI-TORQUE
FRONT
D377LA ASSY, 14 x 1 1/2" PUNCHED D281 - DIBIA
D377LWNA 14 x 1 1/2" DISC HI-TORQUE
D378L 14 x 1 1/2" DISC HI-TORQUE
REAR
D378LA ASSY, 14 x 1 1/2" PUNCHED
D378LWNA 14 x 1 1/2" DISC HI-TORQUE

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

D281WNA

D377LWNA - D378LWNA
ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

C1

Ace Mfg. & Parts Co. manufactures the parts shown above. Long® is a registered trademark of Haldex Corp.



AW Mack ™

Ace No. Size or Description
A118 DRIVE LUG, MACK, 15"
A127 BUSHING, MACK LEVER,
16 3/4"
A193 LEVER, PIN, MACK, 16 3/4"
D142 RIGID DISC, MACK, LESS A118 A127
HUB, 15"
D142M RIGID DISC, MACK, SPICER
CENTER, 15"
D143 ASSY, RIGID DISC, MACK,
UNLINED, 15"
D143WNA ASSY, RIGID DISC, MACK,
15"
D149WNA ASSY, RIGID DISC, 14 x 1 1/2
D269 ASSY, RIGID DISC, MACK, A193 D142 - D142M
14 x2
D269WNA ASSY, RIGID DISC, MACK,
14x2

A=PUNCHED FOR BUTTONS
CB= CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS

FT=DESPLAZAMIENTO LIBRE (JUEGO) D143WNA D149WNA

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

D1

Ace Mfg. & Parts Co. manufactures the parts shown above. Mack® is a registered trademark of Mack Truck Corp.



AN

Ace No. Size or Description

Replacement Parts for

picer

E, SPICER,
, 14"

E, SPICER,
85T, 14"

E, SPICER, 8.562-
2" 1.488-1.492

SP HOLES

E, SPICER, 15 1/2"
G 1.568-1.572

E, SPICER, 9.950-
2" 1.488-1.492

020 OVERSIZE
12

SP HOLES

E, SPICER WIDE
58-1.572

’LATE, SPICER,

A23 A23PSP

, SPLIT 1 3/8" PSP

E EDGE

RETAINER, 1 3/4"

EVE, 1 3/4" .975-.980

R, SELF/ADJ., 1 3/4" A26 A26PSP

A=PUNCHED FOR BUTTONS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

A3l

A32KESA A33 - A330S - A33SA

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

El

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No. Size or Description

EEVE, 2"

RETAINER, 2", .932-
G

EEVE, O/S, 2" .975-

EEVE, SELF ADJ., 2"

ATE, SPICER, S-DUTY,

.PLATE, SPICER, 14"

, SPICER, A/S, 14"

OVER, 14", AIS SELF

, SPICER, A/S, 15 1/2"
, SPICER, A/S 15 1/2”
DJUSTING

.PLATE, SPICER, A/S,
EEVE, 1 3/4"

EEVE, SELF/ADJ.,
EEVE, W/ SPRING

EEVE, W/ SPRING

EEVE, 2" W/ RIVETS

ER SLEEVE W/

EEVE, W/SPPVTS, 2"

Replacement Parts for Sp|Cer®

A46 - A46-1 - A460S - A46SA AS55

A57 A60 - A6OSA

A61 - A61SA A62

A83 - AB3SA A83W - AB3WSA

A84 - ABASA A84W

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E2

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



A“ Replacement Parts for Sp|Cer®

Ace No. Size or Description

ATE, SPICER,
ED COVER 14"

R STRAP KIT

.PLATE, GM, 12"

, EZ PEDAL 2"

ER, EZ PEDAL 2"

ER, EZ PEDAL,

LUG, SPICER, 14"
G CAGE COVER,

PAD, SPICER
PAD, WIDE
BEARING CAGE,

R, RH 1/8 x 1/2

WEAR PAD, SPICER,
8x11/4

G FOR SELF
ING RETAINER

OCKS, SPICER, 1 3/4"

Use with A203
spring & AS203
washer shown on
page E5

A95

A96

A9l A91SK

A119 A122

e ’

Al124
A123 - A123W
A125 Al131

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E3

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for SplCEI’@

Ace No. Size or Description
A132 DRIVE SCREW, SPICER, RD
A132L DRIVE SCREW, SPICER, RD ‘

A139 SLEEVE BUSHING, SPICER,
A132 - A132L A139
A147 STEEL BRAKEWASHER,
A148 FIBER BRAKEWASHER, i
A153 FIBER BRAKEWASHER, 7
Al54 STEEL BRAKEWASHER, - _
SPICER, 1 3/4" —
REL.SLEEVE, SPICER, 1 1/2"
Al61 Al47 Al148
A162 LEVER, KNIFE EDGE,
SPICER
Al72 LEVER, SPICER, PIN TYPE
A175 E RING, SPICER, USE W/
A165 LEVERPIN
Al76 PIVOT SPRING, SPICER
Al177 SNAP RING, SPICER A153 Al61
A178B REL.SLEEVE, 1 3/4" ID 2” OD
A179B REL.SLEEVE, SPICER,
1 3/4" ID 2" OD W/ S RING
A162 A172
A175 A176
A177 A178B A179B

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E4

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No.

A185

A188

A189

A198

A198H

A200

A201

A202

A202B

A203
AS203
A218
A219

A220

A221W

A221RY

For description
see page E3

Replacement Parts for SplCGI’@

Size or Description

HALF LOCKS, SPICER, 2"

SLEEVE BUSHING, SPICER,
o

ADJ.LOCK RING, SPICER

BEARING CAGE SPRING,
SPICER

BEARING CAGE SPRING,
REL.SLEEVE, SPICER,

SLEEVE LOCK RING,
SPICER, 2"

SNAP RING STD.
SNAP RING FOR A178B

BEVEL RING EP

FLAT COIL SPRING FOR EP
DRIVE LUG, MACK, SPICER
SPRING CLIP, SPICER

LEVER, PIN, SPICER

BEARING CAGE, 1 3/4" OR 2"

BEARING CAGE ROLLER

Use with A95

sleeve shown

on this page
and on E3

AS203

)

A185 A188

A189 A198
A200 A201

Use with A95

sleeve shown

on this page

and on E3
A202 - A202B A203
A218 A219

A220 A221W - A221RY

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

ES

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



AN

Replacement Parts for

Ace No. Size or Description

EARING CAGE
SPICER, RH 1/8 x 5/8

EARPAD, SPICER,
x13/8

ARING CAGE,
’LATE, 1 3/4 OR 2"

SY W/ GREASE

ARING CAGE
REASE FITTINGS

ASSEMBLY
YOKE

BUSHING, SPICER,

J. CONVERTER,

ARING CAGE
STP STL, 1 3/4"

ARING CAGE
SPICER 2"

EVE ASSY W/
FITTING

ASSY W/ GREASE

ALED 2" BEARING
ARING CAGE
SPICER, 1 3/4"

EVE ASSY W/
FITTING

ALED SLEEVE
13/4”

CAGE SLEEVE,
11/2"

EVE ASSY W/
FITTING

BRAKE, 1 PC., 2"

BRAKE, 1 PC., 1 3/4"

ORQUE BRAKE,

ORQUE BRAKE, 2"

UTCH BRAKE, 2"

UCH BRAKE, 1 3/4”

picer

A225 - A225G - A225RY A228

A230 A231 - A232

A237 - A238 A239 - A240

o

A437 - A438

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E6

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for SplCEI’@

Ace No. Size or Description
CD14 SHIPPING CARTON FOR 14"
DISCS
CD15 SHIPPING CARTON FOR 15"
DISC
D103 RIGID DISC, SPICER, LESS
HUB, 14"
D103 D115
D103A RIGID DISC, SPICER,
PUNCHED, 14"
D115 HUB, SPICER, 1 3/4 REAR
D116 HUB, SPICER, 1 3/4 FRONT
D120 RIGID DISC, SPICER, 15 1/2
D120A RIGID DISC, SPICER,
PUNCHED, 15 1/2
D121 ASSY, DISC, SPICER, D116
151/2 x 2 D120 - D120A
D121A ASSY, DISC, SPICER,
151/2 x2
D121CB ASSY, DISC, SPICER,
151/2 x 2
D121WNA ASSY, DISC, SPICER,
151/2 x 2
D122 ASSY, DISC, SPICER,
151/2 x 2
D122A ASSY, DISC, SPICER, D122 - D122A D122WNA
151/2 x 2
D122CB ASSY, DISC, SPICER,
151/2 x 2 r
D122WNA ASSY, DISC REAR, SPICER,
151/2 x 2
D155 RIVET, LIPE HUB, RH 5/16 x D155 - D158 D159 - D160
5/8
D158 RIVET, SPICER HUB, RH 1/4
X 9/16
D159 RIVET, ROUND HD, 5/16 x 5/8
D160 RIVET, ROUND HD, .408" x 1"
D162 RIGID HUB, SPICER, REAR,
o
D163 2" RIGID HUB, FRONT, D162 - D165 D163 - D164
SPICER
D164 RIGID HUB, SPICER, H-
DUTY, 2" FRONT
D165 RIGID HUB, SPICER, H-
DUTY, 2" REAR
il IR C. SPICER, A=PUNCHED FOR BUTTONS
14x1 3/4 REAR CB= CERAMIC BUTTONS
D199A ASSY, DlSC, SPlCER, WNA=WOVEN NON-ASBESTOS
14 x 1 3/4 REAR D199 - D199A

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E7

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for Sp|Cer®

Ace No. Size or Description
D199CB ASSY, DISC, SPICER,
14 x 1 3/4 REAR
D199WNA ASSY, DISC, SPICER,
14 x 1 3/4 REAR
D202 ASSY, DISC, SPICER,
14 x 1 3/4 FRONT
D202A ASSY, DISC, SPICER,
14 x 1 3/4 FRONT D199CB _ D199WNA
D202CB ASSY, DISC, SPICER,
14 x 1 3/4 FRONT
D202WNA ASSY, DISC, SPICER,
14 x 1 3/4 FRONT
D204 ASSY, RIGID DISC, SPICER,
14 x 2 REAR
D204A ASSY, PUNCHED DISC,
SPICER, 14 x 2 REAR
D204CB ASSY, RIGID DISC, SPICER, D204 - D204A
14 x 2 REAR
D204WNA ASSY, RIGID DISC, SPICER,
14 x 2 REAR
D205 ASSY, RIGID DISC, SPICER,
14 x 2 FRONT
D205A ASSY, PUNCHED DISC,
SPICER, 14 x 2 FRONT
D205CB ASSY, RIGID DISC, SPICER,
14 x 2 FRONT
D205WNA ASSY, RIGID DISC, SPICER,
14 x 2 FRONT
D206 RIGID HUB, SPICER, MACK
TYPE 2"
D207 RIGID DISC, SPICER, LESS
HUB, 15 1/2"
D207A RIGID DISC, SPICER,
PUNCHED, 15 1/2"
D211 ASSY, SPICER DISC,
15 1/2 x 1 3/4 REAR D205WRIA
D211A ASSY, SPICER DISC,
15 1/2 x 1 3/4 REAR
D211CB ASSY, SPICER DISC,
15 1/2 x 1 3/4 REAR
D211WNA ASSY, SPICER DISC,

15 1/2 x 1 3/4 REAR

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS D206 D207 - D207A

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E8

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No.
D212

D212A

D212CB

D212WNA

D213

D213A

D213CB

D213WNA

D214

D214A

D214CB

D214WNA

D234AFT

D235AFT

D235FT

D236FT
D237AFT

D237FT

D242FT

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

Replacement Parts for Sp|Cer®

Size or Description

ASSY, SPICER DISC,
15 1/2 x 1 3/4 FRONT

ASSY, SPICER DISC,
15 1/2 x 1 3/4 FRONT

ASSY, SPICER DISC,
15 1/2 x 1 3/4 FRONT

ASSY, SPICER DISC,

15 1/2 x 1 3/4 FRONT
D213 - D213A D213CB

ASSY, SPICER DISC,
15 1/2 x 2 REAR

ASSY, SPICER DISC,
15 1/2 x 2 REAR

ASSY, SPICER DISC,
15 1/2 x 2 REAR

ASSY, SPICER DISC,
15 1/2 x 2 REAR

ASSY, SPICER DISC,
15 1/2 x 2 FRONT D213WNA D214CB

ASSY, SPICER DISC,
15 1/2 x 2 FRONT

ASSY, SPICER DISC,
15 1/2 x 2 FRONT

ASSY, SPICER DISC,
15 1/2 x 2 FRONT

SPICER DISC DAMPNER
LESS HUB 14" FT 4 PDL

SPICER DISC, PUNCHED, 14"
FT LESS HUB

SPICER DISC, DAMPNER,
LESS HUB, 14"

3 PDL DISC, SPICER FT

D234AFT

SPICER DISC, PUNCHED,
15.5" FT LESS HUB

SPICER DISC, DAMPNER,
155" FT

SPICER BACK PLATE,

DAMPNER 8 SPRING D235AFT - D235FT D236FT

D237AFT - D237FT D242FT

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080

Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E9

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for SplCEI’@

Ace No. Size or Description
D243FT SPICER SPACER, USE IN "o W
FREE TRAVEL 4,"3’ _\'\ :
D244 SPICER SHIM, y
DAMPNER .01" THICK o | @
D244B SPICER SHIM, (' // /
DAMPNER .03" THICK g% C
D290 SPACER RIVET, SPICER, RH e
14 x1/2
D243FT D244 - D244B
D291 SPACER RIVET, SPICER, RH
1/4 x 9/16
D292 HUB COVER RIVET, SPICER,
RH 1/4 x 7/8
D320 SPICER HUB, FRONT,
SHORT, 2" N
D321 SPICER HUB, REAR, LONG,
o
D322 SPICER HUB, FRONT, D290 - D291 - D292 D320
SHORT, 1 3/4"
D323 SPICER HUB, REAR, LONG,
1 3/4"
D325 DRIVE PLATE, SPICER
D330AFT SUB ASSY, PUNCHED
14" FT 3 SPACER
D330FT SUB ASSY, 14" FT 3 SPACER
D330WFT SUB ASSY, 14" 4 PDL FT
3 SPACER
D321 D322
D332AFT SUB ASSY, PUNCHED

14" FT 2 SPACER

D332FT SUB ASSY, 14" 4 PDL FT
2 SPACER

D332WFT SUB ASSY, 14" 4 PDL FT
2 SPACER

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

D330FT - D332FT D330WFT - D332WFT

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E10

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No.

D333AFT

D334AFT

D335AFT

D335FT

D335WFT

D336FT

D337AFT

D337FT

D337WFT

D340AFT

D340FT

D340FTCB

D340FTWNA

D340LA

D340FTPDL

D340WFT

D340WFT-3

D340WFTCB

D340WFTCB-10

D340WFTCB-3

D340WFTIB

D340WFTIB-3

Replacement Parts for Sp|Cer®

Size or Description

SUB ASSY W/ 2 SPACERS
SUB ASSY W/ 3 SPACERS
SUB ASSY, PUNCHED 15.5"
SUB ASSY, 15.5" FT

SUB ASSY, 15.5" FT

SUB ASSY, 14" 3 PDL

SUB ASSY, PUNCHED 15.5"
SUB ASSY, 15.5" FT

SUB ASSY, 15.5" FT

ASSY, SPICER DISC,

ASSY, SPICER DISC,
DAMPNER, 14 x 1 3/4 F

ASSY, SPICER DISC,
DAMPNER, 14 x 1 3/4 F

ASSY, SPICER DISC,
DAMPNER, 14 x 1 3/4 F

ASSY, HI-TORQUE 14 x 1 3/4

ASSY, DISC, DAMPNER,
4 PDL14x13/4

SPICER DISC, 4 PDL,
14 x1 3/4 FT FRONT

ASSY, DISC, 3 PDL
DAMPNER, FRONT FT

SPICER DISC, FT W/
BUTTONS, 14 x 1 3/4 F

SPICER DISC, FT W/
BUTTONS, 14 x 1 3/4 F .125

ASSY, 3 PDL DISC W/
BUTTONS, FRONT FT

ASSY, IBDISC, 14x13/4 F

ASSY, 3 PDL DISC, IRON F

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS

IB=IRON BUTTONS

WNA=WOVEN NON-ASBESTOS

FT=FREE TRAVEL

D333AFT D336AFT

D337WFT D340AFT - D340FT

D340FTWNA D340WFT

D340WFTCB

D340WFTCB-3

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080

Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for Sp|Cer®

Ace No. Size or Description
D341AFT ASSY, SPICER DISC,
DAMPNER, FT, 14 x 1 3/4 R
D341FT ASSY, SPICER DISC,
DAMPNER, FT, 14 x 1 3/4 R
D341FTCB ASSY, SPICER DISC,
DAMPNER, FT, 14 x 1 3/4 R
D341FTWNA ASSY, SPICER DISC,
DAMPNER, FT, 14 x 1 3/4 R
D341LA ASSY, LIPE HI-TORQUE,
14 x 1 3/4 REAR
D341WFT SPICER DISC, 4 PDL FT,
14 x 1 3/4 REAR
D341WFT-3 ASSY, 3 PDL DISC,

DAMPNER FT, REAR

D341WFTCB SPICER DISC W/ BUTTONS,
FT, 14 x 1 3/4 REAR

D341WFTCB-10 SPICER DISC W/ BUTTONS,
FT, 14 x 1 3/4 REAR .125

D341WFTCB-3 ASSY, 3 PDL DISC W/
BUTTONS, FT, REAR
D341WFTIB DISC ASSY, 14 x 1 3/4,IBR
D341WFTIB-3 ASSY, 3 PDL DISC, IRON R
D342AFT ASSY, PUNCHED DISC FT,
DAMPNER, 14 x 2 FRONT
D342FT ASSY, SPICER DISC FT, D341WFTCB
DAMPNER, 14 x 2 FRONT
D342FTCB ASSY, SPICER DISC FT,
DAMPNER, 14 x 2 FRONT
D342FTWNA ASSY, DISC FT, DAMPNER,
14 x 2 FRONT
D342LCB ASSY, DISC W/ BUTTONS,
FRONT, 14 x 2 Hl TORQUE
D342LWNA LINED DISC, HI-TORQUE,
FRONT, 14 x 2 D342AFT—- D342FT
D342WFT ASSY, SPICER DISC, 4 PDL

FT, 14 x 2 FRONT

D342WFT-3 ASSY, 3 PDL DISC FT,
DAMPNER, FRONT

A=PUNCHED FOR BUTTONS
CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

D342FTCB

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E12

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No.
D342WFTCB

D342WFTCB-10

D342WFTCB-3

D342WFTIB

D342WFTIB-10

D342WFTIB-3
D343AFT

D343FT

D343FTCB

D343FTWNA

D343LCB

D343LWNA

D343FTPDL

D343WFT

D343WFT-3

D343WFTCB

D343WFTCB-10

D343WFTCB-3
D343WFTIB

D343WFTIB-10
D343WFTIB-3

Replacement Parts for SplCEI’@

Size or Description

ASSY, SPICER DISC, 4PDL
FT, 14 x 2 FRONT

ASSY, SPICER DISC, 4PDL
FT, 14 x 2 .125 BTN FRONT

ASSY, 3 PDL DISC FT,
FRONT

ASSY, SPICER DISC, 4PDL
IB, 14 x 2 FRONT

ASSY, DISC, IB-10,
14x2 .125

ASSY, IB, 14 x 2 3 PDL

ASSY, SPICER DISC FT,
DAMPNER, 14 x 2 REAR

ASSY, SPICER DISC FT,
DAMPNER, 14 x 2 REAR

ASSY, SPICER DISC FT,
DAMPNER, 14 x 2 REAR

ASSY, FT DISC, DAMPNER,
14 x 2 REAR

ASSY, DISC W/ BUTTONS,
REAR, 14 x 2 REAR

LINED DISC, HI-TORQUE,
REAR, 14 x 2 REAR

ASSY, 4 PDL DISC,
DAMPNER, 14 x 2 REAR

ASSY, SPICER DISC, 4PDL
FT, 14 x 2 REAR

ASSY, 3 PDL DISC,
DAMPNER, REAR, FT

ASSY, SPICER DISC, 4PDL
FT, 14 x 2 REAR

ASSY, SPICER DISC, 4PDL
FT, 14 x 2 .125

ASSY, 3 PDL DISC, REAR, FT

ASSY, SPICER DISC, 4PDL
FT, 14 x 2, IB REAR

ASSY, DISC 1B-10, 14 x 2
ASSY, 14 x 2 IB 3 PDL

CB=CERAMIC BUTTONS

IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

D342WFTCB-10

D343WFTCB-10

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E13

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for SplCEI’@

Ace No. Size or Description
D344AFT ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344FT ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344FTCB ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344FTWNA ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344FTWNA D344WFTCB
D344WFT ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344WFTCB ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D344WFTIB ASSY, SPICER DISC, FT,
15.5 x 1 3/4 FRONT
D345AFT ASSY, SPICER DISC, FT,
15.5 x 1 3/4 REAR
D345FT ASSY, SPICER DISC, FT,
B! REAR D345FTWNA D345WFTCB
D345FTCB ASSY, SPICER DISC, FT,
15.5 x 1 3/4 REAR
D345FTWNA ASSY, SPICER DISC, FT,
15.5 x 1 3/4 REAR
D345WFT ASSY, SPICER DISC, FT,
15.5 x 1 3/4 REAR
D345WFTCB ASSY, SPICER DISC, FT
LINED, 15.5 x 1 3/4 REAR
D345WFTIB ASSY, SPICER DISC, FT IB,
15.5x 1 3/4 REAR D346AFT - D346FT D346FTCB
D346AFT ASSY, SPICER DISC, FT,
15.5 x 2 FRONT
D346FT ASSY, SPICER DISC, FT,
15.5 x 2 FRONT
D346FTCB ASSY, SPICER DISC, FT
15.5 x 2 FRONT
D346FTWNA ASSY, SPICER DISC, FT
15.5 x 2 FRONT
D346WFT ASSY, SPICER DISC, FT
WPDL, 15.5 x 2 FRONT D346WET
D346WFTCB ASSY, SPICER DISC, FT
WPDL, 15.5 x 2 FRONT
D346WFTIB ASSY, SPICER DISC, FT

WPDL, 15.5 x 2, IB FRONT

CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

D346WFTCB

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E1l4

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Ace No.
D347AFT

D347FT

D347FTCB

D347FTWNA

D347WFT

D347WFTCB

D347WFTIB

D350

D350S

D351

D352

D353U

D355

D357

D357-6

D357-6CB

D357CB

D3571B

Replacement Parts for SplCEI’@

Size or Description

ASSY, SPICER DISC, FT,
15.5x 2 REAR

ASSY, SPICER DISC, FT,
15.5x 2 REAR

ASSY, SPICER DISC, FT
15.5x 2 REAR

ASSY, SPICER DISC, FT,
15.5 x 2 REAR

ASSY, SPICER DISC, FT,
15.5 x 2 REAR

ASSY, SPICER DISC, FT
LINED, 15.5 x 2 REAR

ASSY, SPICER DISC, FT
155x2,IBR

SPICER/MACK DISC,
9 SPRING, LESS HUB

DISC, 9 SPRING 6 PDL, LESS
HUB

DRIVE PLATE, SPICER/MACK
9 SPRING

SPACER, SPICER/MACK,
9 SPRING, LESS HUB

HUB, FRONT/REAR,
9 SPRING, SPICER/MACK

SPICER DAMPNER COVER,
9 SPRING

DISC ASSY, 15.5, 7 SPRING
FRONT/REAR

ASSY, 7 SPRING 6 PDL
FRONT/REAR

ASSY, 7 SPRING 6 PDL,
FRONT/REAR

ASSY, DISC, 7 SPRING,
155x2

ASSY, DISC, 7 SPRING,
155x2

CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS

FT=FREE TRAVEL

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

86
@ O

D347WFT

D350

D351

D357CB

D347WFTCB

D350S

D352

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.

E15



Replacement Parts for SplCEI’@

Ace No. Size or Description
D359 ASSY, DISC, 9 SPRING,
15.5 x 2 REAR 4 PDL
D359-6 ASSY, DISC, 6 PDL, 15.5 x 2
D359-6CB ASSY, DISC, 6 PDL, 15.5 x 2
D359-61B ASSY, DISC, 6 PDL, 15.5 x 2
D359CB ASSY, DISC, 9 SPRING,
15.5 x 2 REAR 4 PDL
D360-6
D3591B ASSY, DISC, 9 SPRING,
15.5 x 2, REAR 4 PDL
D360 ASSY, DISC, 9 SPRING, 15.5
x 2, FRONT 4 PDL
D360-6 ASSY, DISC, 6 PDL, SPICER/
MACK FRONT
D360-6CB ASSY, DISC, 6 PDL, SPICER/
MACK FRONT
D360-61B ASSY, DISC, 6 PDL, SPICER/
MACK FRONT
D360CB ASSY, DISC, 9 SPRING, D359CB D360CB
15.5 x 2 FRONT 4 PDL
D3601B ASSY, DISC, 9 SPRING,
15.5 x 2 FRONT 4 PDL
D361 SPICER DISC, 10 SPRING
LESS HUB
D361A DISC, 10 SPRING 6 PDL
D362 SPICER DISC, 10 SPRING 4
PDL, LESS HUB
D363 DRIVE PLATE, 10
SPRING 039 D360-6CB D359-6CB

CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO) D361 D361A

D362 D363

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E16

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



A“ Replacement Parts for Sp|Cer®

Ace No. Size or Description

D364 SPACER PLATE, 10
SPRING .068

D365 SPICER HUB, FRONT, 10
SPRING

D366 SPICER HUB, REAR, 10
SPRING

D367 BACK PLATE, 10 WINDOW

D370 15.5" DISC, FRONT, 10
SPRING ROUND

D370W 15.5" DISC, 4 PDL 10
SPRING, FRONT

D370WCB 15.5" DISC, 4 PDL 10
SPRING, FRONT

D370W-6 ASSY, 10 SPRING 6 PDL
DISC FRONT

D370W-6CB D370W-6 W/ BUTTONS

D370WIB 15.5" DISC, 4 PDL 10
SPRING, FRONT

D370WNA 15.5" DISC, 10 SPRING,
FRONT

D371 15.5" DISC, 10 SPRING,
REAR ROUND

D371W 15.5" DISC, 4 PDL 10
SPRING, REAR

CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO)

D370WNA D370WCB

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E17

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



Replacement Parts for SplCEI’@

Ace No. Size or Description

D371WCB 15.5" DISC, 4 PDL 10
SPRING, REAR

D371W-6 ASSY, 10 SPRING 6 PDL
DISC

D371W-6CB D371W-6 W/ BUTTONS

D371WIB 15.5" DISC, 4 PDL 10
SPRING, REAR

D371WNA 15.5" DISC, 10 SPRING,
REAR

D385 BACK PLATE, 7 WINDOW

D385S SPECIAL 7 SPRING BACK
PLATE

D635FT 14" 4 PDL DISC LESS HUB

D637FT 15 1/2" 4 PDL DISC LESS
HUB

K2 SHIPPING CARTON FOR
BN TS D371W-6CB D371WNA

K1 SHIPPING CARTON FOR 14"
UNITS

CB=CERAMIC BUTTONS
IB=IRON BUTTONS
WNA=WOVEN NON-ASBESTOS
FT=FREE TRAVEL

A=CON AGUJEROS PARA TACONES (PASTILLAS)
CB=TACONES (PASTILLAS) DE CERAMICA
IB=TACONES (PASTILLAS) DE HIERRO
WNA=PASTA SIN ASBESTOS
FT=DESPLAZAMIENTO LIBRE (JUEGO) D385 - D385S D635FT

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

E18

These parts are produced by Ace Mfg & Parts Co. or its authorized agents without authorization by the original equipment
manufacturers. All reference to trademarks are for I.D. purposes only. Spicer® is a registered trademark of Dana Corporation.



AN Adapter Rings
Ace No. Size or Description
AT79 KIT, FLYWHEEL, ADAPTER,
14" W/ BOLT KIT 3 SLOT
AT9BK FLYWHEEL BOLT KIT
A80 KIT, FLYWHEEL, ADAPTER,
14" W/ BOLT KIT 3 SLOT
A80BK FLYWHEEL BOLT KIT
A81 KIT, FLYWHEEL, ADAPTER,
14" W/ BOLT KIT 4 SLOT
A81BK FLYWHEEL BOLT KIT
A82 RING ADAPTER W/ BOLT KIT A79 - A0
A82BK BOLT KIT

A81

A82

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

F1



Ace No.
AB182
AB183

AB184
AB185
AB186
AB187
AB188
AB189
AB190

AB190S
AB191
AB191G
AB191SLD
AB192
AB193
AB195
AB195S
AB197
AB197S
AB199
AB202
AB203
AB204
AB205
AB206
AB207
AB208
AB209
AB210

Bearings

Size or Description
PILOT BEARING 6200-2RS
PILOT BEARING 6008-2RS

PILOT BEARING 6304-2RS
PILOT BEARING 6201-2RS
PILOT BEARING 6002-2RS

PILOT BEARING 6203-2RS

PILOT BEARING 6202-2RS
PILOT BEARING 6003-2RS A195
PILOT BEARING 6206-2RS

PILOT BEARING 6206-2RSNR
BEARING CAGE, SPICER, 6212
AB191 W/ GREASE

SEALED BEARING, 6212
BEARING CAGE, SPICER, 6210
PILOT BEARING 6303-2RS

PILOT BEARING 6205-2RS
PILOT BEARING 6205-2RSNR
PILOT BEARING 6306-2RS A197
PILOT BEARING 6306-2RSNR
PILOT BEARING 6305-2RS
PILOT BEARING 6204-2RS
PILOT BEARING 6302-2RS

PILOT BEARING 6007-2RS
PILOT BEARING 6005-2RS
PILOT BEARING 6001-2RS
PILOT BEARING 6006-2RS

PILOT BEARING 6009-2RS
PILOT BEARING 6207-2RS A197S
PILOT BEARING 6012-2RS

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

G1



d am
- 7 ]

Ace No.
3-3

3-4

5-5

17-6
AS152
AS160
AS173
AS173LY
AS174

AS175
AS176

AS177
AS200
AS203
AS271

AS305
DS285V
DS287

DS288V
DS289V

DS301

DS311V

DS312V

DS313V

DS314V

DS315V

DS385V

DS386V

DS473

Facing Rivets & Springs

Size or Description
RIVET
RIVET
RIVET

RIVET

RETRACTOR SPRING, SPICER REG DUTY
RETRACTOR SPRING, SPICER HVY DUTY
PRESSURE SPRING, SPICER PLAIN
PRESSURE SPRING, SPICER YELLOW
PRESSURE SPRING, SPICER RED

EP PRESSURE SPRING WHITE

EP ASSIST SPRING PLAIN

PRESSURE SPRING 4500# GREEN

COIL ASSIST SPRING 14 x 15 1/2 EP

FLAT COIL SPRING EP

PRESSURE SPRING MUC470660

SPRING, PRESS.PLATE, FARM TRACTOR 7"
SPRING DAMPNER VALVE QUALITY SILVER

SPRING DAMPNER, SPICER INNER &
OUTER GREEN/GREY

8 SPRING, FT VALVE QUALITY WHITE
10 SPRING, SPICER, VALVE QUALITY PLAIN

LONG SPRING RUBBER DRIVE

OUTER SPRING, MACK VALVE QUALITY

BLUE

INNER SPRING, MACK VALVE QUALITY
YELLOW

CENTER SPRING, MACK VALVE QUALITY
BLUE

INNER SPRING, 7 SPRING VALVE QUALITY
BLUE

OUTER SPRING, 7 SPRING VALVE QUALITY
YELLOW

INNER SPRING, LIPE VALVE QUALITY
PLAIN

OUTER SPRING, LIPE VALVE QUALITY
YELLOW

LONG SPRING, DAMPNER PLAIN

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080

Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138
H1



[ a I

| ¥ WYWEWF )

uttons

Ace No. Size or Description
3/4" 125 THICK
3/4" 140 THICK

3/4" .156 THICK
3/4" .175 THICK

3/4" .187 THICK

1/4" N-S .125 THICK AMA
1/4" N-S .140 THICK
1/4" N-S .156 THICK
1/4" N-S .175 THICK

1/4" N-S .187 THICK

1/4" E-W .125 THICK
1/4" E-W .140 THICK AMB
1/4" E-W .156 THICK
1/4" E-W .175 THICK
1/4" E-W .187 THICK

1/2" 125 THICK
1/2" .140 THICK
1/2" .156 THICK

BER, SUPER .140 THICK AMC
BER, SUPER .156 THICK
BER, SUPER .175 THICK

BER, SUPER .187 THICK

RON, SUPER, .133 THICK
RON, SUPER, .156 THICK
RON, SUPER, .175 THICK - AMD
RON, SUPER, .187 THICK

ERAMIC, SUPER, .140
ERAMIC, SUPER, .156

ERAMIC, SUPER, .175

ERAMIC, SUPER, .187

AMR - AMI - AMF
ERAMIC, SUPER, .218

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

"1




Y

AW Agricultural

Ace No. Size or Description
A250 LOCKWASHER
A251 COTTER PIN

A252 SHOULDER BOLT, PILOT
A252 A253
A253 SCREW, ADJ.LEVER
A254 STRUT PIN
A255 SPRING RETAINER
A256 PIN, REL.LEVER
A257 SPRING, TORSION LEVER, LONG A255
A258 SPRING, TORSION LEVER, SHORT A254
A259 CUP SPRING
A260 PRESS.PLATE, 9"
A261 PTO COVER
A262 REL.LEVER, SHORT
A256
A263 REL.LEVER, LONG
A257
A258

A260

A262
A263

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J1



Agricultural

NG LEVER STRUT
ORT LEVER STRUT

A264 A265

.PLATE, FRONT 7"

RING
DP & DRIVE BLOCK

URE SPRING

RESS.PLATE & ROD
, FORD PTO

.PLATE, FORD PTO, CENTER

A266 A267

A268 A269

A272

A273

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J2



AW Agricultural

Ace No. Size or Description

A300 PRESS.PLATE, IHC FARM
TRACTOR, 7"

A301 COVER, IHC FARM TRACTOR, 7"

A302 LEVER, IHC FARM TRACTOR, 7"

A303 RETRACT SPRING, IHC FARM
TRACTOR 7"
A304 PIN, PRESS.PLATE, IHC FARM A300 A301
TRACTOR 7"
AS305 PRESSURE SPRING
A306 SPRING CUP RETAINER, FARM (A
TRACTOR 7"
A307 ADJ.SCREW SEAT, JI CASE 7"
A308 ADJ.SCREW, FARM TRACTOR 7" A302 A303
A309 HEXHEAD CAP SCREW, FARM
TRACTOR 7"
A310 FLAT PLAIN WASHER, FARM
TRACTOR 7"
A311 SNAP RING, FARM TRACTOR 7"
A304 A306
A312 HEX JAM NUT, FARM TRACTOR 7"
CA0215  COVER ASSY, 7" JI CASE '
A307 A308
A309 A311

CA0215

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J3



Y

AW Agricultural

A

Ace No. Size or Description

D150C DISC, PUNCHED CLOSED WINDOW,
13"LG

D152 HUB, LONG, DAMPNER, 1 3/4"

D153 ASSY, DISC, LONG, DAMPNER,
13x13/4

D154 ASSY, DISC, LONG, DAMPNER, 13"
9 BUTTON

D157 RIVET, HUB FOR JOHN DEERE

D470 10 SPLINE BACKPLATE, DAMPNER,
LONG, 11 x 1

D471 10 SPLINE DISC, DAMPNER, 11 x 1

D472 RIVET, DAMPNER, LONG

D475 1" 15 SPLINE HUB, DAMPNER, LONG

D157

D470

D472

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J4



AW Agricultural

Ace No. Size or Description

D477 ASSY, 15 SPLINE DISC, LONG

D477WNA ASSY, 15 SPLINE DISC, LONG,
LINED

D478 ASSY, 15 SPLINE DISC, LONG

D478WNA ASSY, 15 SPLINE DISC, LONG,

LINED
D487 RETAINER, 9" FORD PTO DISC D487
D491 RIGID DISC, 9" LONG FORD PTO
D508 10 7/8" RIGID DISC, JD 5 PDL LESS

HUB
D509 13 1/2" RIGID DISC, JD 6 PDL LESS

HUB
D510 DISC, POWERSHIFT JD, BACK-

PLATE
D511 12" JD RIGID DISC, 5 PDL LESS HUB

D491 D508

D512 11" JD RIGID DISC, LESS HUB 1062

FACING
D514 14 5/8" 7 PDL DISC

D509 D510

D511 D512

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J5



Ace No. Size or Description

D517 11 7/8" DISC, ALLIS CHALMERS
4 PDL DAMPNER

D520 9" DISC, MASSEY FERG LESS HUB

D521 HUB, 1 3/4 10 SPLINE, MASSEY
FERG

D522 HUB, 1 5/8 25 SPLINE, MASSEY
FERG

D525 12 3/4" DISC, 6 BUTTON LESS HUB D517 D520

D526 11 5/8" DISC, BMD 2991 LUK

D527 14" DISC, 6 PDL LESS HUB

D528 12" RIGID DISC, LESS HUB CD0033

D529 12" DISC, DAMPNER, LESS HUB
CD1152

D530 12 3/4" DISC, DAMPNER LESS HUB

D549 7 7/8" DISC 4 PDL

D550 8 1/2" DISC 4 PDL

D551 8 7/8" DISC 4 PDL

D552 9 3/8” DISC 4 PDL

D554 9 1/4" RIGID DISC, OLIVER LESS
HUB

D557 LIPE HUB, 1 5/8" 25 SPLINE,
DAMPNER

D600C 11" ISOLATOR DISC, LESS HUB

D529 D530 D549

D554 D557 D600C

ACE MANUFACTURING & PARTS CO., INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J6



Y

AW Agricultural

A

Ace No. Size or Description
D601C 9 1/2" LIPE ISOLATOR DISC, LESS

HUB
D602C 12" ISOLATOR DISC, LESS HUB
D611 RETAINER, VIBRATION DAMPNER
D612 DRIVE PLATE, VIBRATION

DAMPNER

D601C D602C

D625 ISOLATOR DISC, 10.37 LESS HUB
D626 ASSY, 10.37 ISOLATOR DISC
D640 ASSY, LIPE DISC, 12 x 1 5/8 25

SPLINE

D640WNA ASSY, DISC, D640 W/ 1248 FACING

D660 CENTER DISC, LESS HUB
D611 D625

D660

ACE MANUFACTURING & PARTS CO.,, INC.- 300 Ramsey - Sullivan, MO 63080
Phone (573) 468-4181 Fax (573) 468-5584 Toll Free (800) 325-6138

J7



ALL NEW

AM Clutch Components

INCLUDING BUT NOT LIMITED TO

BACK PLATES

CLUTCH KITS

DISC ASSEMBLIES

PRESSURE PLATES

INTERMEDIATE PLATES

DRIVE STRAPS

DRIVE LUGS

BEARING CAGES

ALIGNMENT TOOLS

RIVETS

BUSHINGS

WEAR PADS

DRIVE SCREWS

BRAKE WASHERS

CLUTCH LEVERS

SNAP RINGS

DISC SPRINGS

ADJUSTING RINGS

DRIVE PLATES

Ace Manufacturing & Parts Co.

300 Ramsey Street
Sullivan, Missouri 63080
Phone: 573-468-4181
Fax: 573-468-4497

CARBOTIC BUTTONS (IRON)
CERAMIC BUTTONS
RETAINERS

SLEEVE ASSEMBLIES
CARRIERS

CLUTCH BRAKES

« ONE PIECE

« TWO PIECE

e TORQUE LIMITING
E RINGS

CLUTCH ADJUSTERS
TORSION SPRINGS
STRUT PINS
PRESSURE SPRINGS
CLUTCH COVERS
PILOT BEARINGS
RETRACTOR SPRINGS
HUBS

o 11/2”

o 13/4”

° 2”

NON ASBESTOS FACING

Made in the USA





